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203 H R =&l 3,290 3,500 A 210
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Osolotds= O 7,000 «30H *33] x94% 593 630 A37
12JIEt2 43 55,000 11,000 44,000
ORdlords= U 55,000 11,000 44,000

— WX 50,000& «2000t 2l 10,000 8,000 2,000

— detd 30,000& =1,5000t 2l 45,000 3,000 42,000

A2 ES ALY 0 26,495 N 26,495
401 Al HIZ S THHI 0 26,495 N 26,495

01 Al &€ H 0 26,495 N 26,495
OXlelat 254 SAE £X 0 26,495 N 26,495

— A& H| 0& 0 25,000 A 25,000

— A AIEAHI 0& 0 1,495 A 1,495

WEE sy 336,360 341,129 N4,769
= 86,800 86,800 0

Il 20,533 20,533 0

= 35,760 35,760 0

= 193,267 198,036 N4,769

e JIEERE H2FE 2 1,080 1,200 A 120
201 LBt | 1,080 1,200 A 120

01 At 2t2lHl 1,080 1,200 A 120
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Mgl FHEI H= 65,563 70,212 A4,649
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OkeD| 29S| Y =22 M 2002 *10,0000H *90% 1,800 2,000 200

OMYI| MSEIIXY BT M3 300,000 *1074 £ *90% 2,700 3,000 A300

QAT MallJl +He & 200,0002 * 1074 £ *90% 1,800 2,000 A200

OMIl 2YEI| oz 28,383 31,536 ~3,153

— ZASHHIE YTHE XIS (18TH) 1,960,000 * 128 *90% 21,168 23,520 ~2,352

—2A3MHE QEY ABE X2 308,00021 122 %90% 3,327 3,696 369

— ZAStHIE O1F &XIHl XIS 120, 0002 %3631 *90% 3,888 4,320 A432

OMADIBHER HAAAN SLBH (BAZS) 3,000, 0002 *90% 2,700 3,000 A300

301 YPB A3 940 1,000 A0

12 B2 4 3 940 1,000 A60

OHARYND BAS(H4, 4|, LY S) 50,0002 ¥2021 *04% 940 1,000 A60

WHe MEHY IS (FAES/HIIZ) 3,723,855 3,951,598 £227,743

2 609,000 608,000 1,000

= 12,900 12,900 0

2 3,101,955 3,330,698 £.228,743

MYl 2 UL HES 1,049,301 1,269,998 £.220,697

= 10,000 9,000 1,000

= 12,900 12,900 0

= 1,026,401 1,248,098 A 221,697

MMl Hel 977,301 1,197,998 £.220,697

201 LEr2 | 388,793 408,690 £ 19,897

01 Ak 2relt] 81,708 100,600 £18,892

OHOIEHIAL 22K S| 7,000 *52 %1002 *90% 3, 150 3,500 A350

OHAFH 7Y 2 44 100,000 * 102 *13] *90% 900 1,000 A100

OMBDI| BHE 2 25 222 ME 250, 0002 22 *23| *90% 900 1,000 A100

OYBSAF SASE HIIS 2247 8| 2 90,000 *1007H *90% 8,100 9,000 A900
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OMYRE =25 2 INRY 5I| YXE 64,608 81,600 £16,992
— 247 600, 0002 *65] * 12 *94% 40,608 57,600 £16,992
02 22| 307,085 308,090 A 1,005
ONEZHISXH(HEY, HESUE) 400, 0002 * 105 +13] %94% 3,760 4,000 240
OS2 (HIIZAM, RSIA Z8) 850,000 * 15CH x94% 11,985 12,750 AT65
301 LB A 6,800 7,100 A300
TENNTERE 4,700 5,000 A300
OHIISHIAL A8t HIIX 24 7,000 50 *4 5| 94% 1,316 1,400 ~84
OHIISH2IAL SAX ST 28t 60,0002 60 * 13| 94% 3,384 3,600 A216
307 QI2+0| & 310,000 510,000 200,000
05 212t e 310,000 510,000 200,000
OJIASHIIZ ISR el 250, 0002 *800E 200,000 400,000 200,000
405 taHE S b 8,500 9,000 A500
01 HALSEHSH] 8,500 9,000 A500
OMEBEE 2214180 (3528) 250,000 347 8,500 9,000 A500
Bl 2 201 Bl K| 2 72,000 72,000 0
= 10,000 9,000 1,000
= 12,900 12,900 0
2 49,100 50,100 A1,000
301 LB A 72,000 72,000 0
= 10,000 9,000 1,000
= 12,900 12,900 0
2 49,100 50,100 A1,000
12 B2 43 72,000 72,000 0
ORHIEEAY 72,000 72,000 0




SH: EABZD
Hu: NS MEEY Z8(BYLS/HIIE)
ol MDA U HEE (29l &e)
2A -3 -A(3) - HREALY - BES Off &4 DIRSE. Hus2
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2 49,100 50,100 £1,000
HOIS H2lAle 2,674,554 2,681,600 AT,046
=2 599,000 599,000 0
2 2,075,554 2,082,600 AT,046
HOI2 HelAe 29 401,636 408,560 £6,924
201 YErE A H| 48,584 52,760 ~4,176
02 22| 37,584 41,760 £4,176
OBA CCTV A AT (L) 9,720 10,800 ~1,080
— AT WAL 500,000 128 *90% 5,400 6,000 £600
—JIE WYL 400,000 12 *90% 4,320 4,800 £480
OMAD WEH YR+ 12,420 13,800 A1,380
- 400,0008! * 128 +90% 4,320 4,800 £480
- X3t 250,000 <97 4 43| 0% 8,100 9,000 £900
OWEAIE JIAZES 248 160, 000! *37H 4 123 %90% 5,184 5,760 A576
OHJIEZ8HalZ =2 1,900 +20¢ *1002! *35 +00% 10,260 11,400 A1,140
206 T 2 bl 43,052 45,800 £2,748
01 M EHl 43,052 45,800 £2,748
OMESHE 428 3 100, 000! * 1055 *43] »94% 3,760 4,000 £240
OMEEE s 10,0002 *500 0§ *94% 4,700 5,000 £300
OHJISHYR ==X 200,000 *503] *94% 9,400 10,000 £600
OPETZ)| Z23d 100, 000! +205 *94% 1,880 2,000 A120
OHJISHIAL goio 30,0002 *300% *94% 8,460 9,000 540
OMEAL LM 7L 30,000 * 1005 *94% 2,820 3,000 £ 180
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O&8&= H 84 AFFL(SEHLY 28) 30,0003 *3Z 50X CH x94% 4,230 4,500 A 270
OHAE AZE P (&L, 023 ) 5003 *45%H «280 L *94% 5,922 6,300 A378
OHJIEXN 4 BHOEE Y (HEX S) 500,000 *43| x94% 1,880 2,000 A 120
MEdl A2ZAIE & 1,822,918 1,828,040 A122
= 599, 000 599, 000 0
= 1,223,918 1,224,040 A122
202 O Hl 1,918 2,040 A122
01 =W HI 1,918 2,040 AN 122
OMgIl A2AE EX H2F2 ol 60,000 x2H » 172 x94% 1,918 2,040 A122
HY2IZH (= AISZD)(OIEH/DIEH) 113,043 123,056 A 10,013
Jl2Z 113,043 123,056 210,013
JlE &l 113,043 123,056 A 10,013
201 L Er2 I 59,208 65,786 N6,578
01 At 22l 59,208 65,786 N6,578
OFfAMEA 1,831,000 *31H x90% 51,085 56,761 A5,676
O= &l 4,883 5,425 VANGY.¥4
— EZ20AH 7,000& *31H 252 *90% 4,883 5,425 A 542
OFX=S A LR (AIRA, HIISHE) 150, 0002 »2CH = 12& *90% 3,240 3,600 A 360
202 O Bl 49,830 53,010 A 3,180
01 =W HI 49,830 53,010 A 3,180
O& U b8l 80,000& *31H =123 x94% 27,975 29,760 A1,785
O&2 ™o dl 75,0003 *31H x 10 x94% 21,855 23,250 A 1,395
203 Z =& 4,005 4,260 A 255
04 REASEYRF=LH 4,005 4,260 A 255
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